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《大学英语》(专科升本科)复习资料
为了帮助全国各辅导站点和广大有意报考我院成人教育（专升本）各专业考生更好地、更有针对性复习好英语，我们特此编写了这份辅导材料，供广大考生复习英语时参考使用。
本资料以《全国各类成人高等学校招生复习考试大纲》为指导，以宁洪主编、高等教育出版社2008年2月印刷出版的“全国各类成人高考复习考试辅导教材—专科起点升本科”系列教材中的〈英语〉（新编第5版）为第一参考书。同时，我们还在此基础上，参阅了多种其他类似资料后，编写了一套与此配套的入学辅导资料，以便让考生复习时加深印象，巩固所学知识，提高应试技能。
考生进行英语复习时，应该在正确理解和全面掌握《全国各类成人高等学校招生复习考试大纲》所要求的各种英语语言知识点和技能前提下，重点复习本资料所指定的“全国各类成人高考复习考试辅导教材”〈英语〉（新编第5版）复习内容，作到融会贯通，举一反三，这样才能万无一失，在考试中考出好成绩。
重点复习内容：
第一章：语音部分
重点掌握该书第一章第一节中的元音字母在单词中的读音；辅音字母在单词中的读音；以及常见字母组合的读音。
第二章：词汇与语法结构
掌握第二章“语法”中的以下部分：包括名词、动词、形容词和副词、代词、冠词、数词、介词、非谓语动词、情态动词、主谓一致、虚拟语气、倒装、从句。
第三章：完形填空
熟悉词与词组搭配、上下文提示、根据已有知识判断等几种选择正确答案的方法。
第四章：阅读理解
本章应该是复习中用时最多的部分，不仅因为阅读理解在考试中所占分值比例最大（40%），也是因为这类题型要运用语言的综合知识和技能来完成。
考生应该熟悉词义判断、细节掌握、推断引申、篇章理解这四个方面的一些阅读方法。
考试要求及重点知识讲解
第一部分：语音
一、考试要求
共5小题，每小题1分，共5分。要求从所给的四个单词的划线部分中选出一个与其他三个读音不同的选项。测试的目的是考查学生对单词正确读音的把握程度。
二、复习内容
元音字母在单词中的读音；辅音字母在单词中的读音；以及常见字母组合的读音。
[复习要点]

1．
元音字母在单词中的读音规则

英语中的A，E，I，O，U 这5个元音字母在重读音节中的读音如下表所示：
	元音

字母
	字母

读音
	在重读开音节中的读音
	在重读闭音节中的读音

	a

e

i

o

u
	[ei ]

[ i: ]

[ai ]

[əu]

[ju:]
	[ei] face, late
[i:] he, be
[ai] like
[əu] no, go

[ju:] tune
	[æ] cap, sad

[e ] get, let

[i ] fit, is

[ɔ] got, lot

[ʌ] us, cup


2．
一般辅音字母在单词中的读音规则
辅音字母b, d, f, h, j, k, l, m, n, p, v, w, z, 只有一种读音，例如：book, dear, five, hook, jack，king, learn, motor, next, peace, voice, week, zero。

第二部分：语法与词汇
一、考试要求
共15小题，每小题2分，共30分。每小题留有空白处，要求考生从所给的四个选项中选出一个最佳答案填入空白处，使句子符合语法规则，意思完整。
二、复习内容
（一）名词
名词可分为可数名词和不可数名词。可数名词有单、复数之分。
[复习要点]

1．
不可数名词只用单数形式。抽象名词、物质名词和专用名词均为不可数名词。 如：knowledge, water, China.

2．
绝大多数名词的复数构成方法是在单数形式后面加-s或-es，但也有一些名词的复数形式特殊。如：man-men；woman-women；child-children。
3．
单数名词所有格的构成是单词后加“’s”, 通常用于有生命的存在物的名词。如：Mary’s room。名词所有格也可以由介词of加名词构成，通常用于无生命的存在物的名词, 如：the window of the classroom.

（二）冠词
冠词置于名词之前，帮助说明该名词所指的对象。冠词可分为不定冠词a(an)和定冠词the。
[复习要点]

1．
不定冠词a/an用于单数名词前，表示某一类人或事物的“一个”。
2．
定冠词the可用于单数或复数名词前，也可用于不可数名词前。表示某一类人或事物中特定的一个或一些。
3．
定冠词用于形容词最高级及序数词前。如：the best season最好的季节；the first lady第一夫人。
4．
在世界上独一无二的事物前或演奏的乐器名称前面加定冠词。如：the earth 地球；Play the piano弹钢琴。
5．
在某些惯用词中，名词前不加冠词，以具体名词表示抽象概念。如：go to school上学。
6.   在大学名称前不加冠词，但有of介词短语修饰大学名称时，需要加the。如：Oxford University牛津大学; the university of North Carolina北卡罗来纳州大学。
（三）代词
代词用于指代。包括：人称、物主、反身、疑问、不定代词等。
[复习要点]

1. 不定代词both, all, either, any, neither, none的区别：
	
	表示肯定
	表示否定

	
	表示“都”
	表示“单个”
	

	表示两者
	both
	either （两者中任何一个）
	Neither（两者都不）

	表示三者及以上
	all
	Any（三者及以上中的任何一个）
	none （全部都不）


2．
few和little表示“少”和“几乎没有”的意思，具有否定意义。a few 和a little表示“一点”和“一些”的意思，具有肯定意义。但要注意，（a）few修饰或代替可数名词，（a）little修饰或代替不可数名词。
3．
由and连接两个先行词时，代词用复数。
4．
当each, everyone, everybody, no one, none, nobody, anyone, anybody, someone, somebody,用作主语或主语限定词时，其相应的代词一般用单数形式。
5．
当everything, anything, something, nothing等用作主语时，句中相应的代词一般只按语法一致的原则，用单数形式。
（四）介词
介词置于名词、代词或相当于名词的词前面，表示其后面的词与主句成分的关系。
[复习要点]

注意部分常用介词的用法差异。
A．表示时间的介词
1.
at, in, on, during

at 表示确切的时间点或较短暂的一段时间。如：at two o’clock, at sunrise等。
in 表示一天中的各部分时间或较长的时间。如：in the morning, in spring, in 1997等。
on 表示具体的某一天或某一天的上午或下午。如：on Sunday, on Monday afternoon等。
during 表示一段时间，强调时间的延续。如：during the summer vacation等。
2.
from, by

from 表示“从某时起”， from…to 表示“从某时到某时”。如：from 1981 to 1985。
by 表示“到某时止”，“在某时之前”。如：by the end of this month。
B．表示地点的介词
1.
in, at

in 表示教大的地方或场所，at表示教小的地方或场所。如：in London, at the airport等。
2.
to, towards, for

to表示目的地，towards表示方向， for表示朝着…目标。例如：to travel to Chicago, to ran towards one’s mother；to left for London等。
（五）数词 

1.
数词分为两大类：基数词和序数词。基数次表示数量（one, two, three…），序数次表示次序（first, second, third…）。
2.
百、千、万、百万、千万这样的数，一般只能用单数，如：three hundred, five thousand,  ten million；如果要用复数，则只能与of结构连用，并且前面不能再有基数词，如 thousands of, billions of。
3.
在年龄的表达时，注意以下表达法：
He is six years old.（其中year须用其复数）
He is a six-year-old boy.（其中year不用复数）“他6岁了。”

4.  
英语中表示分数时，分数的分子以基数词表示，分母以序数词表示，当分子大于1时，用以表示分母的序数词要用复数。如：1/3—one third， 2/3 — two thirds.

（六）形容词和副词
形容词为用于修饰名词的词，表示名词的属性。副词为修饰动词、形容词和其他副词的词，通常用来说明时间、地点、程度、方式等。
[复习要点]

1. 
形容词和副词的比较级和最高级构成形式

1) 绝大多数单音节词和部分特殊的双音节词后加-er构成比较级，加-est构成最高级。

2) 大部分双音节词和所有的多音节词，前面加more构成比较级，加the most 构成最高级。

2. 
同等程度比较：

as + 原级 + as   



e.g. Ted is as bright as Henry.

3. 
不同程度的比较：

1）比较级 + than 



e.g. John is taller than Mark.

2）not as / so + 原级 + as

e.g. Jack does not behave as / so politely as Bob.

4.
当被修饰的是以-thing, -one, -body结尾的不定代词时，作定语的形容词要后置。例如：
5.
一些形容词和副词有两种比较级形式。例如：
     older, oldest说明人的年纪或年代的久远。
old

elder, eldest 说明家庭成员的长幼。
6．
形容词的最高级前应加定冠词the, 如加a则表示“非常”之意。例如：
This is a most interesting film. 这是部非常有趣的电影。
（七）动词时态和语态
英语的时态：就是用动词不同的形态来表达不同时间发生的动作或存在的状态。动词的语态：
表示主语和谓语之间的关系。
 [复习要点]

A．
动词的时态
1．
一般现在时       
通常表示客观事实或真理；或表示经常发生的、习惯性的动作或存在的状态。形式为：V（原形） 或V-s /es （第三人称单数）。例如：

The earth moves around the sun. 地球围绕太阳转。
They always go to school by bike. 他们总是骑自行车去上学。
2．
一般过去时

表示过去时间所发生的动作或存在的状态，常与过去特定的时间状语连用；或表示过去某一段时间一直持续或反复发生的动作，可与表示频度的时间副词连用。形式为: V-ed。例如：
I bought this computer five years ago. 五年前我买了这太电脑。
He often took a walk after supper when he was alive. 他还在世时，经常晚饭后去散步。
3．
一般将来时
表示在未来某个时间将要发生的动作或存在的状态。形式为：will / shall +V. 。例如：
The telephone is ringing. I will answer it.电话在响，我去接。
4．
现在进行时

表示此时此刻或现阶段正在进行的动作。形式为：is/am/are+ V-ing。 例如：
The police are looking for the two missing children.警察正在寻找两个失踪的小孩。
5．
过去进行时

表示过去某个时刻正在进行的动作。形式为：was/were + V-ing。例如：
Jane burnt her hand when she was cooking the dinner. 珍妮在准备晚餐时烧伤了手。
6. 现在完成时
表示过去发生的某一动作对现在造成的影响或结果；或表示过去已经开始，持续到现在
的动作或状态，往往和表示一段时间的状语连用。形式为：have/has+过去分词。例如：
The milk has already become undrinkable 牛奶已经不能喝了。
We have studied English for five years. 我们已学了五年英语。
7.
过去完成时
表示在过去某一时刻以前已经开始并一直延续到这一时刻、或是在此刻前已经完成的动
作。形式为：had+过去分词。例如：

We had got to the station before seven o’clock. 七点以前我们到达了车站。
B．
动词的语态

英语有两种语态：主动语态表示主语是谓语动作的执行者，被动语态表示主语是谓语动作的承受者。被动语态形式为：be+过去分词，例如：

Mother beat me this morning. 妈妈今天早上打了我。

I was beaten this morning. 今天早上我被打了。

（八）非谓语动词

非谓语动词指的就是动词不定式(to do)，动名词(doing)和分词(doing/done). 他们在句子中不能作谓语，故得此名。

[复习要点]

1． 有些及物动词只能用不定式作宾语，如：hope，want，fail，decide，manage等。例如：

We all hope to see you. 我们都希望见到你。

2．
有些及物动词只能用动名词作宾语，如：admit, avoid, enjoy, finish, mind等。例如：

He has finished doing his work.他已经干完了他的工作。

3．
有的及物动词既可用不定式，也可用动名词，但其意义有所不同。如：remember, forget,  regret, stop等。例如： 

 
I forgot to take aspirin this morning.. 我上午忘了吃阿斯匹林了（但现在想起来了）。

I forgot taking aspirin and took it again a few minutes ago. 我忘了吃过阿司匹林，几分钟以前又吃了一次。  

4.  一些表示感官词或使役动词，如see, hear, have, make, let等后面用不带to的不定式（do）作宾补。

（九）情态动词

情态动词表示讲话人的语气或情感，如能力、义务、猜测等。

[复习要点]

1．
can表示能力，用在一般现在时和过去时中；在否定句或感叹句中，can表示惊讶，怀疑，不相信。

2．
may的否定形式是may not或者mustn’t，意为“不行，不许”。

3．
must 表示“义务”上的“必须，应该”， have to表示客观上的“不得不”。

4．
以must开始问句，肯定回答时用must，否定回答时用needn’t（不必）。

（十）虚拟语气

是动词的一种特殊形式，用来表示说话人所说的话不是客观存在的事实，而是一种愿望、可能、推测、建议、要求或假设。

[复习要点]

1. 用在动词suggest（建议）, order（命令） , demand（要求）等表示要求、命令、建议语气的词引导的宾语从句以及相应名词suggestion，order，demand等后面的从句，从句的谓语用“（should）+动词原形”构成虚拟语气。例如：

The teacher suggested that everyone（should）buy this dictionary. 老师建议每人买本这种字典。

My suggestion is that we（should）tell him about it. 我的建议是我们应该告诉他事情真相。

2. 在if引导的条件状语从句中，如果表示对不可能发生的事实的一种假设，或对已经发生过的事实进行一种相反情况的假设，要用虚拟语气： 
	时     间
	从句谓语形式
	主句谓语形式

	虚拟现在时

（与现在事实相反）
	动词的过去式

（be一般用were)
	should (would, could,

might )+动词原形

	虚拟过去时

（与过去事实相反）
	had done
	should (would, could,

might )+have done


例如：

If I were you, I would buy this book.如果我是你，我就买了这本书了。（与现在事实相反）

If he had been here, he might have been able to help us.如果他当时在这儿，他也许能够帮我们。（与过去事实相反）

（十一）主谓一致

就是谓语动词必须与主语在数和人称上取得一致。

[复习要点]

A. 
谓语动词用单数的情况

1．
主语为动词不定式、动名词和主语从句时，谓语动词用单数。

2．

事件、国名、机构名称作主语时，谓语动词用单数。

3．
one, every, everyone, everybody, nobody, anybody, somebody, either, neither做主语或修饰主语时，谓语动词用单数。

4. 表示时间、距离、金钱、体积、数字等词语作主语表示总量时，谓语动词用单数。

B. 
谓语动词用复数的情况

1．
both, many, few等词语做主语或修饰主语时，谓语动词用复数。

2．
由and连接两个主语时，谓语动词一般用复数。

（十二）倒装

倒装是指将句子的谓语动词或其助动词放在主语之前。
[复习要点]

1．
否定词或否定词组位于句首时，句子的主、谓需要倒装。例如：

Never have I read such an interesting book. 我从来没有读过如此有趣的书。

2．
so/nor/neither开头的句子，表示前句中谓语所说明的情况也同样适用于后句中的主语时，用倒装。例如：

He doesn’t like music. Nor/Neither do I. 他不喜欢音乐，我也不喜欢。

（十三）从句

英语中从句包括：状语从句、定语从句、名词性从句。

[复习要点]

1.
名词从句

在句中起名词作用的从句称为名词从句，可以在句中作主语、宾语、表语、同位语等，分别称主语从句，宾语从句，表语从句，同位语从句。名词性从句通常由连词that, whether/if，连接代词who, what, which等以及连接副词when, where, how, why等引导。
1）由that引导的名词从句：that无任何语义，不做句子成分，仅起连接主、从句的作用。
2）由whether / if 引导的名词性从句：whether / if表示“是否”的意思。Whether 和if 引导

从句的区别为：Whether后可直接跟or not, if则不能; 介词后的宾语从句应使用whether引

导，不能用if引导; whether可引导主语从句和表语从句，if则不能。

3）连词代词或连接副词引导的名词从句：连接代词或连接副词有一定意义，并且在名词从句中会充当某种句子成分。如连接代词一般在从句中会作主语、宾语或定语；连接副词在从句中一般作时间状语、地点状语等。

2. 
定语从句
1）在句子中作定语的从句称为定语从句。定语从句通常位于它所修饰的名词或代词之后，这种名词或代词称为先行词。引导定语从句的词语称为关联词。

2）关联词在定语从句中充当一定成分，可用作主语、宾语和状语等（其中作宾语并且前面没有介词时可省略相应的关联词）。常见的关联词有which, who, that, when, where等。例如：

A man who does not try to learn from others cannot hope to achieve much. 一个不向别人学习的人是不能指望有多大成就的。（作主语） 

We can never forget the day when Hong Kong returned to out homeland. 我们永远不会忘记香港回归祖国的那一天。（作时间状语）

3. 
状语从句
用作状语的从句称为状语从句。它主要用于修饰句子中的谓语动词，从各个方面来修饰、说明谓语动词发生时的各种情况。常见的状语从句有九种之多。状语从句由从属连词引导，不同的从属连词引出不同的状语从句。

1）
时间状语从句：常见的表示时间的从属连词有：when（当…时候）while（当…时候）, as（正当…时）, before（在…以前）, since（自…以来）, until / till（直到…）

2）
地点状语从句：从属连词有：where，wherever等等。

3）
原因状语从句：从属连词有：because, as等。

4）
条件状语从句：从属连词通常有：if, unless, once, as/so long as （只要）, in case （以防）, provided (that)（倘若）, on condition that（如果）等。条件状语从句中表示将来要用一般现在时态。

5）
目的状语从句：从属连词有：so（使得）, that（以便）, so that（为了，使得）, in order that（以便）, for fear that（唯恐，以免）, lest（以免，以防）等。

6）
结果状语从句：常由 so that, so...that, such...that 等连接词引导。

7）
比较状语从句：从属连词主要有：than, as...as, not so/as...as, “the + 比较级, the + 比较级”（越……，越……）等。

8）
方式状语从句：从属连词有 as（正如）， as if/though（似乎，好像）等。

9）
让步状语从句：常由 though, although, even if/though（即使）, however （不管怎样）, whatever（无论什么）, no matter how/who...（不管……）等连接。

4.   主句和从句不能同时使用连接词。如：

Though it was getting dark, he still went on working. (正)

Though it was getting dark, but he still went on working. (误)

第三部分：完形填空

一、考试要求

共15个小题，每小题1分，共15分。该部分是一篇200词左右的短文，短文中15处空白，每个空白为1小题。每小题有四个选项，要求考生在阅读理解文章内容的基础上，选择一个最佳答案，使短文的意思和结构合理、完整。

二、复习内容

提高综合运用语言的能力，即阅读理解和理解使用词汇和语法的能力。掌握以下基本技巧：

1． 迅速通读短文,忽略空白,掌握文章大意；
2． 充分利用篇首句和篇尾句,进行预测和推理；
3． 重复阅读短文,进行选择填空；
4． 最后通读一遍, 纠正错误。
第四部分：阅读理解

一、考试要求

共16个小题，每小题2.5分，共40分。该部分由4篇文章组成，每篇文章后4个小题，要求考生在理解全文的基础上，从题后给出的四个选项中选出一个最符合题意的答案。

二、复习内容

掌握以下阅读技巧：

1. 
Looking for the Topic Sentence; 寻找主题句

2. 
Recognizing Important Facts and Details; 把握文章的重要事实和细节

3. 
Reading for the Main Idea and Drawing Conclusions; 理解文章的主旨要义；得出结论

4. 
Using Word Part Clues for Word Meanings; 根据上下文推测词义

5. 
Reading for Implied Meanings; 领会文章的隐含意思

6. 
Making Inferences and Judgments; 进行判断推理

第五部分：短文写作

一、考试要求

共1个小题，总计10分。该部分要求考生写出一篇约80词的短文。写作内容涉及生活、一般常识和私人信件。体裁包括记叙文、说明文、议论文和应用文。试卷可能给出题目，或规定情景。考生应根据不同要求进行写作。短文写作的要求为：能够正确表达思想，意义连贯，无重大语言错误。

（一）记叙文


记叙文通常要求描写一段经历、一件事或者描写个人情感、观感等。记叙文包括六大要素：时间、地点、人物、事件、原因、结果。这种作文经常用的是时间顺序法，即按照事情发展的先后顺序进行讲述。在写记叙文的时候注意以下几点：

1．在记叙文的开头应该交代时间、地点和人物；事件和原因放在文章中叙述，结果要在文章结尾交代；

2．可以用第一人称，也可以用第三人称；

3．要特别注意叙述的时间着眼点。叙述过去的人和事要以过去时为基点；叙述现在的人和事要以现在时为基点。

4．可适当使用一些表示事件发生的先后顺序的词语，是讲述更有条理性。如first“第一”，second“第二”，third“第三”，then“然后”，finally“最后”，consequently“结果”，at last“最后”，in the morning / afternoon / evening“在早上/ 下午/晚上”，last week / month“上个星期/月”，yesterday / today / tomorrow“昨天/今天/明天”等。

（二）说明文


说明文介绍事物（性质、特点、过程等）或人物（情况、简历、特征等）、解释事理（概念、原理、现象等）。主要有事物说明文和事理说明文。写说明文应该注意以下几点：

1．抓住事物特点即本质特征，从而使读者获得全面、深刻的认识。

2．安排说明顺序。说明文常用的结构安排有下列三种：时间顺序；空间顺序；逻辑顺序。

3．讲究说明方法。写好事物说明文，不仅要抓住特征，注意条理，而且要巧妙运用说明方法，像举例子、作比较、分类别、列数字、打比方等。可适当用一些词汇来表明句与句之间的逻辑关系。如first, second, third等表示分类，on the one hand“一方面”，on the other hand“另一方面”，but“但是”等表示对比和对照；for example / for instance“例如”表示举例说明。

4．说明文通常以一般现在时为基点，涉及到过去才用过去时态，提到将来才用将来时。

（三）议论文


议论文是针对某一观点阐述自己的看法，并且通过摆事实，将道理说明自己看法的依据是什么。写作中应注意以下几点：

1．议论文要求论点明确，论据充分有力；

2．论证严密，采用的方法有因果法、举例法、比较法等；

3．议论文短文篇章的组成：一般是Introduction – Body – Conclusion三段式文章，即于第一段中引出话题，从而提出主题，中间用一段到两段的篇幅采用举例、列举或比较的方式论证或说明自己的观点，于结论处重述主题、或归纳总结照应首段，或提出问题的解决方式等。

（四）书信

A．信件：信件分为感谢信、邀请信、求助信、安排信、道歉信、抱怨信以及祝贺信等。

信件的格式：

	日期

称呼,

（空一行）

正文 ………………………………………………………………….. ……………..

…………………………………………………………………………………………………..

…………………………………. 

（空一行）

落款

签名


B．通知/启事：通知通常是指对各种会议、活动、仪式等的告知。启事通常指针对实物丢失、失物招领的告知。

通知/启事写作格式：

	通知/启事

发行日期

（空一行）

正文 

（空一行）

落款


考试形式及试卷结构

考试形式：闭卷

考试时间：90分钟

试卷总分：100分

试卷结构：

一、语音知识（1％×5）(5%)

二、词汇与语法知识 (2%×15 ) (30%)
三、完型填空 (1%×15) （15％）
四、阅读理解（2.5％×16）（40％）
五、作文（10%×1）（10%）

附三套模拟题：
四川大学网络教育学院入学考试

《大学英语》（专科升本科）模拟试题（一）
I.
Phonetics (5 points)

Directions: In each of the following groups of words, there are four underlined letters or letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.

1、A：make     B：lake     C：sad     D：state

答案：C

2、A：guard     B：knowledge     C：egg     D：big
答案：B

3、A：care     B：fare     C：hare     D：are
答案：D

4、A：accent     B：accompany     C：accept     D：access

答案：B

5、A：invasion     B：decision     C：occasion     D：discussion
答案：B

II.
Vocabulary and Structure (30 points)

Directions: There are 15 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet.
6、Have you read _______ newspaper yet?

A：today's     B：Today's     C：the today's     D：your today's

答案：A

7、_______ students with a little common sense should be able to answer the question.

A：Each     B：One     C：Either     D：Any

答案：D

8、As a student, he _______ come to school on time.

A：must     B：can     C：may     D：needs

答案：A

9、The differences between Chinese and western society can _______ misunderstandings.

A：course     B：cause     C：create     D：rise

答案：B

10、The greatest invention of the 20th century is _______ computer.

A：/     B：the     C：a     D：an

答案：B

11、Jane burnt her hand when she _______ the dinner.

A：cooked     B：has been cooking     C：has cooked     D：was cooking

答案：D

12、Marry, as well as Tom, _______ a key to the office.

A：have     B：having     C：to have     D：has

答案：D

13、I didn't do as _______ I did yesterday.

A：badly today as     B：bad today as     C：badly as today     D：bad as today

答案：A

14、I prefer writing a term paper _______ taking an examination.

A：than     B：to     C：for     D：rather than

答案：B

15、Not only _______ the data fed into it, but it can also analyze them.

A：the computer can memorize     B：can the computer memorize

C：do the computer memorize     D：can memorize the computer

答案：B

16、You are welcome to order the goods now. But payment should be made _______.

A：for advance     B：advancing     C：in advance     D：to advance

答案：C

17、We all survived ______.

A：from the war     B：during the war     C：the war     D：after the war

答案：C

18、The first thing ______ you should do to apply for a further study in America is to pass the 

Graduate Record Examination.

A：for which     B：Which     C：in that     D：that

答案：D

19、There is something wrong with my TV set. I must have it _______.

A：checking     B：check     C：to check     D：checked

答案：D

20、If we _______ yesterday, we _______ the work by noon.

A：weren't interrupted…would finish     B：didn't interrupt…would have finished

C：hadn't interrupted…had finished     D：hadn't been interrupted…would have finished

答案：D

Ⅲ. Cloze (15 points)

Directions: There are 15 blanks in the following passages. For each blank there are four choices marked A, B, C and D. You should choose the ONE answer that best completes the passage.
    The angry woman sat in the station office. "The railway should pay me $12." She said to Harry, the man ___21___ sold the ticket. "My ticket was ___22___ May 22nd, and there was ___23___ train from Jersey that night. ___24___ had to stay in a hotel. It ___25___ me $ 12."

    Harry was worried. He remembered ___26___ the woman a return ticket. After he checked the Jersey timetable for May 22nd, he knew she was right. However, had he made ___27___ mistake?___28___ what to do, he smiled at the child. "Did you have a nice holiday in Jersey?" he said to her. "Yes," she answered shyly. "The seashore was ___29___, and I can swim ___30___!"

    "That's fine," said Harry. "My little girl can't swim a bit yet. Of course, she's only three…"

Harry turned to the mother, "I remember your ticket, madam," he said. "But you didn't get one ___31___ your daughter, ___32___ you?"

    "Well," the woman looked at the child. "I mean she hasn't started school yet. She is only four." "A four-year-old child ___33___ have a ticket, madam. A child's ___34___ ticket to Jersey costs $13.50. So if the railway pays your hotel bill, you will owe $1.50. The law is the law, but since the mistake was ___35___…"

    Saying nothing, the woman stood up, took the child's hand and left the office.

21、A：which     B：where     C：whose     D：who

答案：D

22、A：on     B：at     C：in     D：for

答案：D

23、A：not     B：no     C：the     D：a

答案：B

24、A：I and my daughter     B：Me and my daughter
C：I and a daughter of mine     D：My daughter and I

答案：D

25、A：costs     B：cost     C：costing     D：costly

答案：B

26、A：buying     B：to buy     C：to sell     D：selling

答案：D

27、A：such a careless     B：so a careless     C：so careless     D：such careless

答案：A

28、A：Wondered     B：Being wondered     C：Wondering     D：Having been wondered

答案：C

29、A：beautifully     B：lovely     C：greatly     D：wonderfully

答案：B

30、A：too     B：neither     C：either     D：nor

答案：A

31、A：to     B：with     C：for     D：given

答案：C
32、A：hadn't     B：had     C：did     D：didn't

答案：C

33、A：must     B：many     C：ought     D：can

答案：A

34、A：single     B：one way     C：go and back     D：return

答案：D

35、A：I     B：me     C：my     D：mine

答案：D

IV. 
Reading Comprehension (40 points)

Directions: There are 4 reading passages in this part. Each passage is followed by five questions. For each question there are four suggested answers marked A, B, C and D. Choose the best answer and blacken the corresponding letter on the Answer Sheet.

Passage 1

A tunnel (隧道) is being built through a mountain. If it is dug through weak, soft rock, the tunnel may fall in. If the diggers strike water, the tunnel will be flooded. If the rock is too hard, workers will not be able to dig through it. Before a tunnel can be built, people must know what they will find. They call in a geologist. She or he helps plan a tunnel so it can go through rock that is dry and hard, but not too hard.

A steel and concrete skyscraper is going up. A skyscraper cannot be built over sand or mud. Sand and mud cannot hold up a building. Before a skyscraper can be built, people must know what lies under the surface of the earth. They call in geologists.

Geologists find the best place to build dams and bridges. They look for the best places to dig wells for water. Geologists help us make wise use of the land.

36、According to the passage, geologist can find the best places to build ________.

A：weak, soft rock     B：sand and mud     C：land     D：dams and bridges

答案：D

37、A skyscraper can not be built over ________.

A：solid ground     B：very hard rock     C：sand or mud     D：a mountain

答案：C

38、The word "wise" in paragraph3, sentence 3, most probably means _______.

A：foolish     B：good     C：learned     D：bad

答案：B

39、The main idea of the passage is that ________.

A：tunnels can be built through any kind of soil     B：geologists help us make wise use of the land

C：a skyscraper is built on very hard rock     D：geologists can be called in everywhere

答案：B

Passage2

Dreams may be more important than sleep. Some people don't need very much sleep. But we all need to dream, scientists say.

Dreams take up about one quarter of our sleeping time. People have several dreams each night. Dreams are like short movies. They are usually in color. Some dreams are like old movies. They come to us over again. That may be because the dreamer is worrying about something. Dreaming may be a way of trying to find an answer.

Some people get new ideas about their work from dreams. They could have been thinking about their work all day. These thoughts can carry over into dreams.

Sometimes we wake up with a good feeling from a dream. But often we can't remember the dream. Dreams can disappear quickly from memory.

Too much dreaming can be harmful. The more we sleep, the longer we dream. The mind is hard at work when we dream. That is why we may have a long sleep and still wake up tired. 
40、The main idea of the story is that ________.

A：people need to dream     B：people like to sleep

C：dreams are like movies     D：dreams are harmful for us

答案：A

41、The title for the story could be ________.

A：Secret Dreams     B：The longest Sleep     C：All about Dreams     D：What Is Your Dream

答案：D

42、Dreams and movies are usually ________.

A：very long     B：in color     C：about work     D：very short

答案：B

43、Which of these ideas is expressed in the story?

A：We always remember dreams.     B：All dreams are happy.

C：Long dreams can make you tired.     D：We have bad sleep when we dreams

答案：C

Passage 3

How can we get rid of garbage? Do we have enough energy sources to meet our future energy needs?

These are two important questions that many people are asking today. Some people think that man might be able to solve both problems at the same time. They suggest using garbage as an energy source, and at the same time it can save the land to hold garbage.

For a long time, people buried garbage or dumped it on empty land. Now, empty land is scarce. But more and more garbage is produced each year. However, garbage can be a good fuel to use. The things in garbage do not look like coal, petroleum, or natural gas; but they are chemically similar to these fossil fuels. As we use up our fossil-fuel supplies, we might be able to use garbage as an energy source. Burning garbage is not a new idea. Some cites in Europe and the United States have been burning garbage for years. The heat that is produced by burning garbage is used to boil water. The steam that is produced is used to make electricity or to heat nearby buildings. In Paris, France, some power plants burn almost 2 million metric tons of the cities garbage each year. The amount of energy produced is about the same as would be produced by burning almost a half million barrels of oil.

Our fossil fuel supplies are limited. Burning garbage might be one kind of energy source that we can use to help meet our energy needs. This method could also reduce the amount if garbage piling up on the earth. 
44、What two problems can man solve by burning garbage?

A：The shortage of energy and air pollution.

B：The shortage of energy and the land to hold garbage.

C：Air pollution and the shortage of fossil fuel.

D：Air pollution and the shortage of land to hold garbage.

答案：B

45、According to the passage, using garbage is ________.

A：for heating in France each year     B：a new way in a modern society

C：a good way to solve the problem of energy shortage     D：too expensive as an energy source

答案：C

46、What is the author's attitude?

A：Delighted     B：Sad     C：Agreeing     D：Disagreeing

答案：C

47、The best title for the passage may be ________.

A：Garbage and the Earth     B：Fossil Fuel and Garbage

C：Land and Garbage     D：Garbage? Energy Source

答案：D

Passage 4

 I really love my job because I enjoy working with small children and like the challenges and awards from the job. I also think my work is important. There was a time when I thought I would never have that sort of career（职业）.

I wasn't an excellent student because I didn't do much schoolwork. In my final term I started thinking what I might do and found I didn't have much to offer. I just accepted that I wasn't the type to have a career.

I then found myself a job, looking after two little girls. It wasn't too bad at first. But the problems began when I agreed to live in, so that I would be there if my boss had to go out for business in the evening. We agreed that if I had to work extra hours one week, she'd give me time off the next. But unfortunately, it didn't often work out. I was getting extremely tired and fed up, because I had too many late nights and early mornings with the children.

One Sunday, I was in the park with the children, and met Megan who used to go to school with me. I told her about my situation. She suggested that I should do a course and get a qualification（资格证书）if I wanted to work with children. I didn't think I would be accepted because I didn't take many exams in school. She persuaded me to phone the local college and they were really helpful. My experience counted for a lot and I got on a part-time course. I had to leave my job with the family, and got work helping out at a kindergarten.

Now I've got a full-time job there. I shall always be thankful to Megan. I wish I had known earlier that you could have a career, even if you aren't top of the class at school.
48、What is the author's present job?

A：Working part-time in college.     B：Taking care of children for a family

C：Helping children with their schoolwork     D：Looking after children at a kindergarten.

答案：D

49、When staying with the two girls' family, the author ________.

A：was paid for extra work     B：often worked long hours

C：got much help from her boss     D：took a day off every other week

答案：B

50、Why did the author leave her first job?

A：She needed a rest after working extra hours     B：She was fed up with children.

C：She decided to attend a part-time course     D：She found a full-time job.

答案：C

51、What has the author learned from her own experiences?

A：Less successful students can still have a career.     B：Qualifications are necessary for a career

C：Hard work makes an excellent student     D：One must choose the job she likes

答案：A

V. 
Writing (10 points)

Directions: For this part, you are allowed 20 minutes to write a short composition in about 80 words based on the following situation.

你是Helen，要写一封信给Julie，对她和她丈夫昨天请你和你丈夫吃饭表示感谢，表示要回请他们，以答谢他们的盛情款待。
答案：

Dear Julie:

Thank you very much for the dinner that you invited my husband and I to yesterday. The food not only looked and smelled fabulous but tasted great, and my husband and I enjoyed it very much. Therefore, we would like to invite you to dinner at 7 p.m. this Friday at the Northwest Chinese restaurant to return your kindness and hospitality.

                                                  Yours,

                                                       Helen

四川大学网络教育学院入学考试
《大学英语》（专科升本科）模拟试题（二）
I.
Phonetics (5 points)

Directions: In each of the following groups of words, there are four underlined letters or letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.

1、A：gate     B：hate     C：jade     D：staff

答案：D

2、A：fly     B：silly     C：simply     D：city
答案：A

3、A：peace     B：already     C：jeans     D：reason

答案：B

4、A：success     B：accident     C：according     D：accept

答案：C

5、A：flour     B：our     C：pour     D：sour
答案：C

II.
Vocabulary and Structure (30 points)

Directions: There are 15 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet.

6、Last Sunday my family went to _______.

A：the Child's Park     B：the Children' Park     C：the Children's Park     D：the Childrens' Park

答案：C

7、On the desk lay a dictionary, _______ colour is red.

A：whose     B：its     C：which     D：and its

答案：D

8、We will _______ be in a hurry if we want to catch the 12:00 train.

A：must     B：need     C：necessary     D：have to

答案：D

9、Talking to foreigners is fun if you _______ the right time and place.

A：locate     B：consider     C：choose     D：decide

答案：C

10、"What did Alexander Bell do?"

"He invented _______."

A：a telephone     B：the telephone     C：telephones     D：telephone

答案：B

11、I've already decided. I _______ buy a new car.

A：am going to     B：will     C：would     D：have bought

答案：A

12、What the man said to the police officer _______ by several other witnesses standing by.

A：was disputed     B：were disputed     C：disputed     D：be disputed

答案：A

13、When a student has answered one question correctly, he or she will be given a _______.

A：difficult one     B：difficult question     C：more difficult one     D：most difficult one
答案：C
14、I would like to apply _______ the position of sales clerk that you advertised in the Sunday newspaper.

A：with     B：in     C：to     D：for

答案：D

15、I couldn't understand the lecture, and _______.

A：neither could Sue     B：so couldn't Sue     C：Sue couldn't neither     D：Sue couldn't also

答案：A

16、It is very cold in the room. Shall I ______?

A：make a fire     B：light a fire     C：set fire     D：catch fire

答案：A

17、Don is always _______ of money. He spends more than he can earn.

A：lack     B：short     C：plenty     D：free

答案：B

18、The twins ask their mother ______.

A：when will she buy the new shoes for them.     B：when she will buy the new shoes for them.

C：what will she buy the new shoes for them.     D：what she will buy the new shoes for them.

答案：B

19、When I was a child I used _______ swimming in the lake.

A：to going     B：going     C：to go     D：go

答案：C

20、If she had worked harder, she _______.

A：would succeed     B：had succeeded     C：should succeed     D：would have succeeded

答案：D

Ⅲ. Cloze (15 points)

Directions: There are 15 blanks in the following passages. For each blank there are four choices marked A, B, C and D. You should choose the ONE answer that best completes the passage.
   A pet is an animal that ___21___ in your house. Over half the families in North America own pets. The most popular ___22___ are dogs, fish and birds. Rabbits, hamsters and turtles are also ___23___. Even some unpopular animals such as frogs, mice and snacks are pets.

    People first ___24___ to keep pets about 12000 years ago. The first pet ___25___ a dog. The dog did not become a pet because people ___26___ it was cute. It became a pet because it was useful. People used the dog ___27___ many things. The dog warned people ___28___ danger so wild animals didn't attack people. It also ate leftover food. Later, dogs helped people take care ___29___ cows and sheep on farms. 

    Cats did not ___30___ pets for a long time. When the Egyptians first started to grow grain, mice ate it. The Egyptians were ___31___ to tame cats.

    Today, people keep many ___32___ of pets. Animals such as canaries, parrots, mice and hamsters live ___33___. They need people to bring them food and water and to keep their cages clean. Other animals, such as dogs and cats, need food and water, but they can take care of themselves ___34___. They are good pets for people because they don't need ___35___ care.

21、A：lives     B：stays     C：sleeps     D：plays

答案：A
22、A：houses     B：dogs     C：pets     D：families

答案：C

23、A：wide     B：narrow     C：popular     D：populous

答案：C

24、A：begin     B：started     C：know     D：hope

答案：B

25、A：is     B：was     C：were     D：had been

答案：B

26、A：studied     B：bought     C：taught     D：thought

答案：D

27、A：for     B：at     C：with     D：in order to

答案：A

28、A：about     B：of     C：on     D：for

答案：B

29、A：with     B：for     C：in     D：of

答案：D

30、A：become     B：grow     C：turn     D：change

答案：A

31、A：first     B：firstly     C：at the first     D：the first

答案：D

32、A：sort     B：type     C：kinds     D：groups

答案：C

33、A：in cage     B：in the cages     C：in the cage     D：in cages

答案：D

34、A：many ways     B：in many ways     C：a better way     D：plenty of ways

答案：B

35、A：many     B：much     C：a great amount of     D：plenty

答案：B

IV. 
Reading Comprehension (40 points)

Directions: There are 4 reading passages in this part. Each passage is followed by five questions. For each question there are four suggested answers marked A, B, C and D. Choose the best answer and blacken the corresponding letter on the Answer Sheet.

Passage 1

The aim of students who come to school is to study. But to study requires a right way, or you waste either the time or the money. The following are the ways for studying.

The best time for reading is morning, because in the morning, the air is fresh and mind is clear. For that reason, we can get good result.

In studying we must have patience. If we have not known a text well, we must read it again. We should not read the next one till we have learned the first one. When we are studying, we must put our hearts into the book, or we can get nothing from the book while we are reading.

We must always ask "why". If it is not well understood, write it down and ask our teachers or our parents, brothers or friends. In any possible way, we must know it completely and what we've learned can be used well and made better.
36、The article tells us __________.

A：the importance of reading     B：to read on the morning

C：to pay attention to the ways of studying     D：to have patience in studying

答案：C

37、We'd better read in the morning because __________.

A：it's easy to remember what we have learned     B：the air is fresh and the mind is clear

C：it's difficult to get good results     D：both A and B

答案：B

38、If we can't put our hearts into the book when we read, it is __________.

A：easy to understand it well
     B：hard to get something from it

C：impossible for us to get something from it     D：possible to learn something from it

答案：C

39、In studying we must always ask "why" in order to __________.

A：understand the book well     B：write down the questions

C：do with the new words     D：get some questions to ask our teachers

答案：A

Passage 2
Reading newspapers has become an important part of everyday life. Some people read newspapers as the first thing to do in the morning; others read newspapers as soon as they have free time during the day so that they can learn what is happening in the world.

People just choose newspapers that they are interested in. Some like the world news, and others prefer short stories. Sometimes we don't have enough time to read all the news carefully, so we just take a quick look at the front page. At other times, we may be in such a hurry that we only have a few minutes to look at the titles of the passage.

Today, newspapers is English have the largest number of readers in the world. The English language is so popular that many Chinese students are reading English newspapers such as China Daily, 21st Century and so on. They bring more and more message together with the Internet.
40、Reading newspapers __________.

A：is the most important to people     B：is a part of everyday life

C：is the first thing for everyone to do in the morning

D：is done by everybody as soon as they have free time during the day

答案：B

41、Different people like to read __________.

A：the same newspaper     B：different newspapers     C：the world news     D：short stories

答案：B

42、Sometimes we don't have enough time to read __________ carefully in newspapers.

A：all the passages     B：the front page     C：the titles of the passages     D：the titles of the news

答案：A

43、Many Chinese students are reading English newspapers because__________.

A：the words on the Internet are English     B：English is widely used

C：there is a lot of messages in English     D：both B and C

答案：B

Passage3
It takes a long time to grow a tree. How long? Well, pine trees are the quickest growing trees, but still, they take twenty years to reach a size suitable for cutting and harvesting. An oak takes about sixty years to grow to a good size. A redwood may take hundreds of years.

Lumber companies, which make their money on trees, depend on those that grow quickly. Therefore, they are always looking for methods to make trees grow faster. So far, the secret to fast growing trees seems to lie in "super-seeds." These are seeds that are gathered from the quickest growing trees in a forest. One company searched 100,000 acres of trees and selected the seeds from just fifteen trees. These two ounces of seed were enough to plant several hundred new trees. Eventually, when these trees have grown, seeds will again be taken only from the fastest growing trees of crop. This process of artificial selection will yield, in the future, s super-tree that will grow in half the time it takes normal trees to develop.

Unfortunately, it takes a long time for a plan like this to reach its goal. The Weyerhauser Lumber Corporation, which started its first collection of seed in 1958, is just now beginning to harvest the super-seeds of the first generation of the faster growing trees. 
44、This selection centres on _______.

A：the life span of trees
     B：the age of redwoods

C：making trees grow quickly     D：cutting trees for lumber

答案：C

45、Trees that grow faster are developed by _______.

A：planting many trees and fertilizing them     B：collecting seeds from strong, slow growing trees

C：selecting the seeds of the fastest growing trees     D：feeding them high-energy plant foods

答案：C
46、Super-trees _______.

A：will be a great benefit to lumber companies     B：make extra-good lumber for buildings

C：will probably be weak because of their fast growth

D：may be defenceless to many insects and diseases

答案：A

47、The word "therefore" in paragraph 2 indicates that a _______.

A：speech is beginning     B：conclusion follows

C：comparison is being made     D：metaphor is being used

答案：B

Passage 4
What do you want to be when you grow up? A teacher? A doctor? How about an ice-cream taster?

Yes, there really is a job where you can get paid to taste ice cream. Just ask John Harrison, an "Official Taste Tester" for the past 21 years. Testing helps manufacturers to be sure of a product's quality. During his career Harrison has been responsible for approving large quantities of the sweet ice cream -as well as for developing over 75 flavors（味道）.

Some people think that it would be easy to do this job; after all, you just have to like ice cream, right? No-there's more to the job than that, says Harrison, who has a degree in chemistry. He points out that a dairy or food-science degree would be very useful to someone wanting a career in this "cool" field.

In a typical morning on the job, Harrison tastes and assesses 60 ice-cream samples. He lets the ice cream warm up to about 12F. Harrison explains, "You get more flavor from warmer ice cream, which is why some kids like to stir it, creating ice-cream soup."

While the ice cream warm up, Harrison looks over the samples and grades each one on its appearance. "Tasting begins with the eyes," he explains. He checks to see if the ice cream is attractive and asks himself, "Does the product have the color expected from that flavor?" Next it's time to taste!

Continuing to think up new ideas, try out new flavors, and test samples from so many kinds of ice cream each day keeps Harrison busy but happy-working at one cool job. 
48、What is John Harrison's job?

A：An official     B：An ice-cream taster     C：a chemist     D：An ice-cream manufacturer

答案：B

49、According to John Harrison, to be qualified in the "cool" field, it is helpful to __________.

A：keep a diary of work     B：have a degree in related subjects

C：have new ideas every day     D：find out new flavors each day

答案：B

50、What does Harrison do first when testing ice cream?

A：He stirs the ice cream.     B：He examines the color of the ice cream.

C：He examines the color of the ice cream.     D：He lets the ice cream warm up.

答案：D

51、Which of the following is probably the best title of the passage?

A：Tasting with Eyes     B：Flavors of Ice Cream

C：John Harrison's Life
     D：One Cool Job

答案：D

V. 
Writing (10 points)

Directions: For this part, you are allowed 20 minutes to write a short composition in about 80 words based on the following situation.

你是王蓝，想加入一个俱乐部以便闲暇时间过得更愉快。写一封信给俱乐部经理介绍你的兴趣和爱好。
答案：

Dear Club Manager:

I am writing to ask to join your club to enjoy my free time.

I have many hobbies and interests. I like photography, painting and sightseeing. I like collecting stamps, raising flowers and climbing mountains. And I like playing cards and playing golf.

I would like to be a member of your club. Please let me know the requirements of applications.         

Looking forward to your reply.











                  Yours,











                  Wang Lan
四川大学网络教育学院入学考试

《大学英语》（专科升本科）模拟试题（三）
I.
Phonetics (5 points)

Directions: In each of the following groups of words, there are four underlined letters or letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.

1、A：date     B：grade     C：dam     D：lake

答案：C

2、A：supply     B：simply     C：try     D：style

答案：B

3、A：spread     B：steady     C：steal     D：threaten

答案：C

4、A：catch     B：child     C：march     D：machine

答案：D

5、A：asked     B：missed     C：whipped     D：played
答案：D

II.
Vocabulary and Structure (30 points)

Directions: There are 15 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet.
6、The storm has caused _______ to this region.

A：few damages     B：many damages     C：much damage     D：much damages

答案：C

7、Lily and I have been writing regularly to _______ for several years.

A：ourselves     B：each other     C：myself     D：herself

答案：B

8、Peter _______ come with us tonight, but he isn't very sure yet.

A：must     B：may     C：can     D：will

答案：B

9、Modern medicine has made great _______ to the health and welfare of mankind.

A：distributions     B：contributions     C：attributions     D：tributes

答案：B

10、It is said that _______ new mobile telephone was invented not very long ago.

A：a     B：the     C：one     D：/

答案：A

11、The American president who _______ for the freedom of slaves in the USA was Abraham Lincoln. 

A：fought     B：fought about     C：fought of     D：fought at

答案：A

12、What he says and what he does _______ not agree.

A：are     B：do     C：has     D：does

答案：B

13、He speaks English _______ better than I.

A：very     B：so     C：much     D：too

答案：C

14、Mr. Law loved his wife _______ all his heart.

A：to     B：by     C：in     D：with

答案：D

15、Ann didn't like our new roommate, and _______.

A：I don't too     B：neither did I     C：neither I did     D：so did I

答案：B

16、Don't leave your books near the open fire. They might easily ______.

A：catch to fire     B：catch fire     C：catch up fire     D：catch with fire

答案：B

17、The little girl _______ me _______ her aunt.

A：reminds; /     B：recall; of     C：made; of     D：reminds; of

答案：D

18、The manager invited me here. Could you tell me ______, please? 

A：his office is     B：where his office is     C：Where is his office     D：his office is where

答案：B

19、A _______ achievement in electronics is the invention of electronic computers.

A：Widely knowing     B：Being widely known     C：Widely known     D：Having widely known

答案：C

20、If there were some intelligent beings on other planets, they _______ signals to our earth.

A：would send     B：will send     C：have sent     D：sent

答案：A

Ⅲ. Cloze (15 points)

Directions: There are 15 blanks in the following passages. For each blank there are four choices marked A, B, C and D. You should choose the ONE answer that best completes the passage.
    Millions of years ago the earliest people lived ___21___ in caves. Caves were easy to defend ___22___ enemies, and caves could protect from ___23___.

    Today, ___24___ different reasons, people are designing and building underground places to live and work. More than 5,000 Americans have built homes underground or ___25___ the sides of hills. Some companies have built ___26___ in huge caves. School and other buildings have been built underground too.

    One reason for such buildings is the lack of (缺乏) open land in some ___27___ areas. Another reason is the lower cost of ___28___ underground buildings. For both of these reasons, the University of Minnesota has built a building of seven ___29___ almost ___30___ underground. It is a building where engineers are ___31___ with classrooms, offices and a huge laboratory. The buildings is ___32___ to use sunlight for lighting, even on the lowest floor more than 40 meters under the surface.

    Mirrors on a small part of the building above the ground ___33___ sunlight and shine it down ___34___ an open area in the center of the building. Lenses (透镜) of glass are used to keep the beam (光束) of sunlight narrow and bright all the way ___35___ the bottom floor. The system only works on clear days when sunlight is bright.

21、A：underground     B：above the ground     C：over the ground     D：under water

答案：A

22、A：in     B：against     C：with     D：to

答案：B

23、A：cold days     B：rains and colds     C：rain and cold     D：rainy days

答案：C

24、A：because     B：in order to     C：out     D：for

答案：D

25、A：on     B：in     C：with     D：above

答案：B

26、A：enterprise     B：factories     C：library     D：workshop

答案：B

27、A：crowding     B：crowd     C：crowded     D：crowdies

答案：C

28、A：warm and cold     B：heated and cooled     C：heating and cooling     D：hot and cool

答案：C

29、A：ground     B：floor     C：floors     D：grounds

答案：C

30、A：complete     B：contradictory     C：complicated     D：completely

答案：D

31、A：trapped     B：tamed     C：translated     D：trained

答案：D

32、A：downloaded     B：designed     C：downsized     D：decided

答案：B

33、A：calculate     B：cheer     C：clarify     D：capture

答案：D

34、A：by     B：through     C：pass     D：under

答案：B

35、A：within     B：for     C：over     D：to

答案：D

IV. 
Reading Comprehension (40 points)

Directions: There are 4 reading passages in this part. Each passage is followed by five questions. For each question there are four suggested answers marked A, B, C and D. Choose the best answer and blacken the corresponding letter on the Answer Sheet.

Passage 1

Scientists have always wanted to know more about the other worlds in space. Years ago they knew a lot about the moon. They knew how far away it is from the earth. But they wanted to know more about it. They thought and thought. At last they found the only way to know more was to send men to the moon.

The moon is about 384 000 kilometres away from the earth. A plane can not fly to the moon because the air reaches only 240 kilometres high above the earth. Then there is no air. But something can fly even when there is no air. That is a rocket (火箭).

Rockets can fly out into space. Rockets with men in them have already reached the moon. Some rockets without men in them have flown to other parts, much farther away from the earth than the moon in the universe. One day, rockets may be able to go to any place.
36、The moon is ________ away from the earth.

A：about 384 000 kilometres     B：240 000 kilometres

C：Only 348 000 kilometres     D：about 348 000 meters

答案：A

37、A plane can't fly to the moon because ________.

A：the moon is 240 kilometre far away     B：we don't know where it is

C：it can't fly without air     D：there is no air on the moon

答案：C

38、Rockets with men in them have reached ________.

A：the sun     B：the moon     C：all the stars     D：some planets

答案：B

39、Which of the following is right?

A：So far, rockets with men have been to other places.

B：Rockets with men can fly to other places farther away than the moon.

C：Perhaps one day rockets will be able to go to any place in space.

D：A plane can fly to the moon.

答案：C

Passage 2
Jack went to a barber-shop and had his hair cut, but when he came out, he was not happy with the result. When his friend Bob saw him, he laughed and said, "What has happened to your hair, Jack?"

Jack said, "I tried a new barber-shop today, because I wasn't quite satisfied with my old one, but this one seems even worse."

Bob agreed. "Yes, I think you're right, Jack. Now I'll tell you what to do when you go into a barber's next time: look at all the barber's hair, find out whose hair looks worst, and then go straight to him."

"Why shall I go to him?" Jack asked. "But that would be foolish!"

"Oh, no, it wouldn't," answered Bob. "Who cut that man's hair? Just think it. He couldn't cut it himself, could he? Another of the barbers cut it. So you know he can't be the worst barber." 154
40、When Jack went out of the barber's shop, he was not happy because _______.

A：nobody had cut his hair     B：the barber hadn't cut his hair well

C：the barber had cut his hair carefully     D：he was not satisfied with his old barber

答案：B

41、"I tried a new barber-shop today." means _______.

A：this barber-shop was a new one     B：this was the only barber-shop in this town

C：Jack often went to this barber-shopJack had not been to this barber-shop before

D：Jack had not been to this barber-shop before

答案：D

42、 Bob told Jack to find out which barber's hair looked the worst and then go straight to him. 

Why?

A：Because he was certainly the best barber.     B：Because he was free all the time

C：Because he was the worst barber.     D：Because he wasn't the worst barber

答案：D

43、From the story we know that ________.

A：it's foolish to have one's hair cut at a barber-shop     B：barbers cut each other's hair

C：barbers never have their hair cut     D：a barber always cuts his hair by himself

答案：B

Passage 3
The thought of not sleeping for twenty-four hours or more is not a pleasant one for most people. The amount of sleep that each person needs varies. In general, each of us needs about eight hours of sleep each day to keep our bodies healthy and happy. Some people, however, can get by just a few hours of sleep at night.

It doesn't matter when or how much a person sleeps. But everyone needs some rest to stay alive. Few doctors would have thought that there might be an exception on this. Sleep is, after all, a very basic need. But a man named Al Herpin turned out to be a real exception, for supposedly, he never slept!

Al Herpin was 90 years old when doctors came to his home in New Jersy. They hoped to negate the claims that he never slept. But they were surprised. Though they watched him every hour of the day, they never saw Herpin sleeping. He did not even own a bed. He never needed one.

The closest that Herpin came to resting was to sit in a rocking chair and read a half dozen newspapers. His doctors were baffled by this strange case of permanent insomnia. Herpin offered the only clue to his condition. He remembered some talk about his mother having been injured several days before he had been born. Herpin died at the age of 94, never having slept a wink.

44、This passage centers on ________.

A：dream interpretation     B：patterns of sleep


C：Al Herpin's sleepless life     D：sleeps and dreams

答案：C

45、The expression "get by", in the last sentence of the first paragraph is ________.

A：a confusing expression     B：a rude expression

C：an everyday expression     D：an improper expression

答案：C

46、Al Herpin's condition could be regarded as ________.

A：normal     B：curable     C：healthful     D：rare

答案：D

47、The most likely reason on Herpin's insomnia was ________.

A：his mother's injury before he was born     B：that he never got tired

C：his magnificent physical condition     D：that he got enough rest rocking

答案：A

Passage4
Without proper planning, tourism can cause problems. For example, too many tourists can crowd pubic places that are also enjoyed by the inhabitants of a country. If tourists create too much traffic, the inhabitants become annoyed（恼怒）and unhappy. They begin to dislike tourists and to treat them impolitely. They forget how much tourism can help the country's economy. It is important to think about the people of a destination country and how tourism affects them. Tourism should help a country keep the customs and beauty that attract tourists. Tourism should also advance the well-being（health and happiness）of local inhabitants.

Too much tourism can be a problem. If tourism grows too quickly, people must leave other jobs to work in the tourist industry. This means that other parts of the country's economy can suffer.

On the other hand, if there is not enough tourism, people can lose jobs. Businesses can also lose money. It costs a great deal of money to build large hotels, airports, air terminals, first-class roads, and other support facilities（设施）needed by tourist attractions. For example, a major international-class tourist hotel can cost as much as 50 thousand dollars per room to build. If this room is not used most of the time, the owners of the hotel lose money.

Building a hotel is just a beginning. There must be many support facilities as well, including roads to get to the hotel, electricity, sewers to handle waste, and water. All of these support facilities cost money. If they are not used because there are not enough tourists, jobs and money are lost.

48、Which of the following topics has most probably been discussed in the paragraph that goes before the passage?

A：It is extremely important to develop tourism.     B：Building roads and hotels is essential.

C：Support facilities are highly necessary.     D：Planning is of great importance to tourism.

答案：D

49、Too much tourism can cause all these problems EXCEPT 

A：a bad impact on other industries     B：a change of tourists' customs

C：over crowdedness of places of interest     D：pressure on traffic

答案：B

50、Not enough tourism can lead to     A：an increase of unemployment 

B：a decrease in tourist attractions     C：the higher cost of support facilities

D：a rise in prices and a fall in pay

答案：A

51、The word "handle" in the last paragraph most probably means  

A：carry away     B：pick up     C：get in     D：take down

答案：A

V. 
Writing (10 points)

Directions: For this part, you are allowed 20 minutes to write a short composition in about 80 words based on the following situation.

写一篇作文，简述人们在找工作时要考虑的一些因素，并解释其原因。

答案：  
People often consider of three things when they are finding a job.

First, people think about income. If a job can provide them with a fat salary, they can afford a big house and a nice car, and live a meaningful and colorful life. Second, they consider if a job suits their major. If it does, they can well put what they have learned into practice. Third, people think about working conditions of a job. For example, some people don't want to work outdoors because they don't want to suffer from wind, rain, and the hot sun.

In brief, people often consider the above three factors when they are finding a job.
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